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CO233FR / C0870 TREASURY MANAGEMENT

SN BT

Q.P. Code 24363

[Time: 2.30 Hours]

Please check whether you have got the right questlon paper

N.B: 1. R Questlon are compulsory. . et B
Fill in the blanks (Any 8) R
............ is fixed maturity ranging from 7 days to lyear.
( CP,CD, LAP)

Settlement risk is a part of .............
( market risk , credit risk , liquidity risk )
When forward rate is less than spot rate , then the exchange
rate is said tobe at ........
( premium , discount , stable )
...is driven trading system for government securities
( NDS -OM , CBLO , FIMMDA )
. ..is a clearing platform
{ NDS CCIL Gl
International remittances include ...........
( forwards , foreign currénrﬁies‘, merchant transactions)
............ risk relating to the régulatory aspects of treasury
management ( legal , market , operational ) ;
.............. is a short term monetary instrument issued in the form
of promissory note by the large corporates for short term
borrowings. ( commercial paper, T bill, bills of exchange)
..cash forecast cover a rolling 12-18 months.
( Short term ,'M'ediuifn"term ,'Long term)
..n.accounts measures the cross border flow of money
( current, capital , financial )

True or False (Any7)

ALM is.used for managing assets

Capital market is short term market

Banks are main participants of national or domestic treasury
Treasury managemeht cannot be considered as a sub function
of the financial management.

Integrated treasury is holistic approach

Counter party risk is a part of credit risk

The interbank market is segment offorex

Forward markets deals with future delivery

Duration method is used to measure operations risk

The mainfunction of treasury management to maintain the profitability of business
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CO233FR /C0873 COMPUTER SKILLS 2

Q.P. Code: 23036

Explain the following functions in spreadsheet with syntax and ex_am‘ple': i

1.MAX() 2. TODAY() 3. PPMT()  4.RATE() 5.Fv() -
OR

State the Advantages and Disadvantages of DBMS.

List the tangible benefits of ERP Software.

OR _ 1
Give difference between CRM and SFA using sefvices?
Explain Evolution of Database.

Explain various types of Online Trading, g :

Discuss the advantages to Banks and Custome'rs of ECS Credit. A

OR
Explain any two trading sites.
Enlist the advantages of Smart Cards

Explain any two types of R'eiét'ion':ships of RDBMS with 'eXanﬁ'pleS.'

Discuss the flow of information, money and materials in SCM. -
OR ] &
Write short notes on: (Any 3)

Pivot Tables

Primary Key

Hierarchical DBMS

Internet Banking -

SCM. L

sk o ok ok ok o ok ok ok ok ok sk
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Explain the following functions in spreadsheet with syntax and ekam;‘:ﬁle
1. AVERAGE() 2. NOW() 3. SUMIF() 4. COUNTIF() ‘5:PMT() "

(15)

- (15)

(8)
(7)

(15)
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CO233FR / C0873 COMPUTER SKILLS 2

Q.P. Code: 23036

[Time: 2.5 Hours] (Marks: 75)

Please check whether you have got the right question paper.
N.B: 1. All Question are compulsory.
2. Figures are right to indicate full marks.

Multiple Choice Question (Any 8) o (8)

can be added to pivot tables that acts like a filter.
a. Slicer b. Value c.Sort d. Query,
In a students’ database table, field can be the primary key
a. Name b. Phone Number c. Roll Number  d. Date of birth
A system is basically just as computerized record keeping system.
a. Communication b. Database c.Application d. Database
The Relational Databases Model was introduced by E. F. Codd in the year
a. 1980 b. 1970 61960+ > di- 1950
DBMS is defined as the software system that allows users to define,
maintain and control access to the database. :
a. Create b.Direct c. Sumup d. None of these
SCM involves Aoaleid 'flo_w, Material flow and Money Flow
a. Information b r’r___\arket' ¢, Customer  d. Competion

is the fourth stage of SCM.

a. Develop b.Plan  c.Deliver d.Return

is the, act of buying and selling international currencies, futures, stocks,
bonds and other financial instruments through the internet.
a. Internet Banking b, Online Banking ¢. Online Trading
d. None of these . . :
ECS has provided benefits to the banks, Ultimate Beneficiaries and
a. Government b, Schools ¢, User Institutions d. None of these.
Smart card usually contaihs an embedded
a5 4b AG S, Microprocessor d. None of these

State true or false (Any 7) (7)
Conditional Formatting can be applied only on numerical data

Sum and Sumif functions are the same.

Datais defined as.a known fact that can be recorded and that have implicit meaning.
Fields or columns are the smallest or very basic unit of DBMS.

In RDBMS Access to data can’t be restricted.

Manufacturing Management is a part of ERP

BoM Management is a part of the CRM Software

Use of ERP increases lead time.

E-banking reduces errors.

There are three variants of ECS: Credit, Debit and Cash
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CO233FR / C0872 / MANAGEMENT ACCOUNTING

\ i Q. P. Code. 23&5]8 “
| Time: 2:30 Hours O A Marks 75
Q.1. (A) Multiple Choice questions (any 8) I Sa e " S (3'),: ,

1) Interest is element of cost. (a) Tax deductible (b) Appi‘opnﬁitmn (c}Dmdand (d) R By
None of these I S A A S

2) If Sales for the 2016 is Rs.2,00,000 and sales for 2017 i is 1 50 000‘ the company lS sald ia '\
be de-grown by % over previous year. (a) 150% (b) 25% (c) 10% (d) 15%

3) Loan Funds consists of (a) Working « taL+ Loans (b) Bdnk loan TS :
preliminary expenses (¢) Shareholder’s equity + R. se S &surplus (d} Term Loan+
Debentures . :

ot N 2

4) Debtor is an element of (a) CuﬂsntAsget _(:b) Current,Llablhty(c)Debt(d) S

CRR

5) Creditors turnover ratio is calculated ta ﬁnd out the eﬁimency of (a) Payable departrnent
T (b) Receivable department (c) Conveftmg smck 1ﬁt0 saies (dlAjl of these A ” F&

6) Standard Quick ratio is consndexedﬁs‘;i;‘;‘ S (a} 2: 1 (b) i 1 (c) 5“1 (d) 3 2

7) Operating Profit is &’ (a) Operahhg cxpenses only (‘b) Cost of goocis only
(c) Non operating expenses (d) GPDSS Froﬁt Less Dperatmg expenses

8) In cash flow stater_nent, rsductlon i Debfars balance 1& (a) 1nﬂow (b) Outflow
(c) No effect on cashﬂw “(cﬁ)'Negaﬁ've effect on tashﬂow‘ -

9) Current Assets 'arQequaI jtf.) '(a) Cu‘rrent habllmes (b) Qu;.ck assets plus stock (c) Stock (d)
None of these’ MO : S

‘\Z'. ‘.; ey

10) Debt eqmty ra.t;c isa relatmnshlp betWebn (a) Short term debt & Equity (b) Long term
debt & Eqm:y ({}) Egmem ab111ty & Share capltai (d) None of the above

| Q £ (B;Tmeffalse (any z) e o8 %
ol lg”the;mam pmpﬁse'of mterest coVEr_ag\e ratlo is to show the extent to which own and loan

ﬁu?ds ai‘é,wggbd in mgbusmess

| A ‘2“‘El yaar ﬁgurcs arc conmdered as 100% for calculating trend of figures.

4) Thsmﬁl;n putpose o?Stack ta wDrkmg capital ratio is to show the extent to which working
) .:capltal 'riﬁﬁldckéé‘m 1\ yeittoﬂes
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CO233FR / C0872 / MANAGEMENT ACCOUNTING s B S
Q. P. Code: 23818
8) Capital employed is calculated as Fixed asset assets plus Working capital A

9) In cashflow statement, transfer to general reserve is deducted from Net pmﬁt for a
calculating cash from operations. TS RO o

A

10) Debtors under principle of conservatism are valued at sellin;g_p!"icg TS

Q.2 Management of ZN limited has appointed you as management accountant and asked you
to comment on the financial health of the company on the basis of available gats The income .
statement for 2 years is provided to you. You are required to prepare Comparative Income $ e
statement and offer your comments on the financial h alth’of the company. > 35 S

Particulars 2015 K oanec o
Sales 50,00,000°|  70,00,000} -
Less:|Cost of Goods sold : 25,0@:@3& ‘;;?_1232,'5,0,00@ ’
Gross Profit 25,00,000  32,50,000}

Operating Prof [ 17,00000]_25,00000] -
Less: [Non Operating Expenses |~ 5:00,000| 7,00,0001 - S
Add: |Non Operating Income ;|- 3,00,000.} 5,00,000}
Profit Before Interest & Tax | - 15,00,000 | 123,00,000] =
Less: |Interest oo TU8,00,000 1 9,00,000] &3
Profi Before Tax. | 7,00000]_ 14.00,000]
Less:|Tax @ 30% ..~ F 210,000 [ 4.20,000] -
Profit After Tax 1. 4.90,000( 980,000}
Less: [Dividend = . 0 1,20,000 ] 2,40,000
S 10.0390,000 | 740,000}
OISO S AT SO o
Q2F rcﬁ'nihe fo]lowlng financial statement of Glen limited, prepare a Commeon size financial
statemgﬁi;-iﬁ-V;e‘xiﬁh‘al‘-‘f&r;g}@@@ offer your comments in brief: (15)

Lo o Paticulas 5 T2001 (Rs) [ 2012 (Rs.) | Particulars 2011 (Rs.) | 2012 (Rs.)
ToOpening stock -~ . | > £2,000] - 93.000 | By Saks 12,40000 | 15,50,000
To Piwchages -~ [~ % 7 "] 169,250 961,000 |By Closing stock $3.000] 1,24,000
o f 193,750 | 3,10,000
310,000 [ 3,10,000
1.13,33,000 | 16,74,000 1333000 | 16,74,000
L 77,5001 93,000 |By Gross Profit 3,10000 ]  3.10,000
38,750 46,500 |By Non-operating Income 15,500 77,500
" {To Disfribution expenses - 53 15,500
| To Provision for tax~ "~ . 83,700 93,000
- |ToProposed dividend "% .| 731,000 38,750
* 2| To'Net Profit (Retained carnings). > 94,550 | 1,00,750
VS SO S S A 325500 3,87.500 325500 3,87.500

By S )

E To?GibssTm?n

Adioin Sxpenses
4 1 f(e.;" R o
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Less:|Operating expenses _8,00,000] 750,000 - ‘

- Trading, Profit and Loss Account for the year ended 315t December ‘

0 —fp‘l" -



CO233FR / C0872 / MANAGEMENT ACCOUNTING

Q. P. Code: 23818

Q 3 Followmg are the P&L and Balance sheet of Larsen lelted

~;~T“

S s

Profit & Loss account for the year ended 31st December 2004":?'{-!' '

3 RS.':"

450000|

Particulars Rs. Particulars - _
To Opening stock 30,000 |By Sales .- 0] - 4/00,000] -
To Purchases 3,00,000 |By Closmg stock Taa s SQ,DOO
To Gross Profit c/f 1,20,000 [ «, S SO Ay
450000 | O TR T SO |
70 Expescs 20,000 |By Gross Profitb/d ~~ - | 120,000} -
To Net Profit c/f 1,00,0008 < > LT CS : HRTIESABE
To Provision for Tax 40,000 By Net Profitb/d |- 1,00,000
To Dividend 20,000 SN AR
To RetainedEam'Egs_ _ ;_‘_‘4@}_000; e : T
. «\1 00,000 ~ 1;00,000

Balahce aheet a8 un .?:lst December;2004

fors 5

o

Sl Liabilities RQ. ¥ A (T AR IR Rs.
Share Capital (Rs.10 each) 2»00 000 Plant & Machlnery 80,000
Reserves S 10,000 Land & Bwldmgs 20,000
Profit & Loss accmﬁt" . 30 ,000 [Stock - : 50,000
Creditors ‘ 50 000 Debtoxjs A 80,000
n c_&s'h' & Bsnk“ e 60,000
290,090 o 2,90,000

Convel:t ?the abpw statements mto verucal statcments and calculate the following ratios:

D kStSock tumover ratlo 2) Debtors turnover ratlo 3

NS sapltal employed 5) Retum on Propnefor s fund.

“OR
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) Creditors turnover ratio 4) Return on

(15)



CO233FR / C0872 / MANAGEMENT ACCOUNTING =

a.r. c-l-: 2381 a E

" Balance sheet as on 31st December, 2004 o _“-—; ‘.~' "/' e OV ey
Liabilities Rs. Assets ' . ]
2500 Equity shares 25,000 |Fixed Assets i
8% Preference share capital 5,000 |Investments A '
Reserves 20,000 |Stock > 22 E '
6% Debentures 10,000 |Sundry Debtors 2
Sundry Creditors 15,000 |Bank Balance . - 3500}
Provision for Tax 2,500 PrelnmmyExpﬁm 3 ¥
Profit & Loss account (after tax) S ; R o =¥
Previous Year 500 k:z:!e‘ Ay oL AEANG &
Current Year| 7,500 ;S,\‘ o gy o A
85,500 | &~ o S ‘f ¥ isg B

Additional Information: Tax provided durihg{thr:\“uﬁent year m

Calculate the following ratios: 1) Remm mj capital. exftployﬁ 2) (hrﬁ’ lan) &mng per
share 4) Return on proprietors’ funds 5) P’\t’op‘rietary ratio. Also men h Msheet into

vertical form & offer your commen s on e&chfatlo By 7
Q.4 Following are summanse;lBalance sheets of CSL hrmted as dﬂ‘m 2004 &
2005. & RECSL ST T e 15

.;_- B e ——s—

Mf::“r ‘_‘&_: ,'\\‘ l,'-’_.' —f Bﬂhm %ﬁee‘t y
Liabilities | 2004 Rs. | 2005 Rs: | »Assg,!s.: = m Rs. | 2005Rs.

Equity Sharc capital - _{ -2,00,000 | *2,50,000 [Bank -~~~ 35.000 16,000
12% Debentures -+ - -{ -1,00,000 | - 80,000 [Stock ~I- 40000 75,000
10% Preference sh;rg% 50,000 [~ 80,000 |Debtors 90000!  1.50,000
Bank Loan <, . < .. 10,000° i:ﬁ"-,l,’t‘b_j(}g)o Ma.chmery 75.000 60,000
Reserves ‘j"‘k‘\- ¢ © 25,000 {Furniture 10,000 8,000
P&L accmmf\ < : 60,000 {Land 1,70,000 |  2,80,000
Creditors” 160,000} < 75,000 |Buikdings 1,40,000 99,000
B:us,Payabb, S 000-{ 33,000 [Goodwil 30,000 25,000

00 | 7,13,000 | 590006 |  7,13,000

:"1) Deprecmtlc;n charged durmg 2005 was Rs.4,000 on Furniture, Rs. 12,000 on
o Machin@fy“anii Rs.20,000 on Buildings.
2) PmOfMachme{y as sold for Rs.15,000 at a loss of Rs.4,000
& 8)5 Dm:mg 2005, intenm dividend was paid Rs.10,000 and Income tax was paid Rs.5,000.
: 4) Durmg the year part ‘of the building was sold at book value.

: ‘:;You are:reqhﬁéd tqpreparc ‘Cash flow statement using Indirect Method.
' eSS OR
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£ S Py
Time: 2:30 Hours

-

Instructions _ : ‘Qﬁ v
&
1. All questions are compulsory with internal options %&; 2
SO cfh.(-’
QlI. a. True or False: (Any 8) ,g%‘"ﬁ; 5
A N R‘i‘

i.  Treasury bill is issued for 91/ 184/ 364 days. &'/ </
ii.  The tenure of the transactions of call monexa%n&:@ %»a;,-

e

iii.  Capital market is absent in India. §8 vf e
iv.  There are over 100 money market mutuﬁitﬁvlgﬁﬁg;‘ bd'i‘@?
v.  Treasury bills are auctioned every Wedies sday. '5"““3“&3‘ &
vi.  Money market deals with short temi‘xgsingﬁ T fs oS, \3’1 3
vii.  Disintegrated market leads to bett%;icdn@l, ‘ﬂgﬁ S v

per & “; o s
$ viii.  Banker’s acceptance is 51m11a:1 @'@}\}f’)@ s 8 {f}
. 4’ {“

ix.  Diversification is lmposmblg@??’@qu ”‘rﬁan I!ﬁ{ Qg"f‘ﬁl 40
x.  The bill drawn outside Inéfa{ls En@%ﬁﬁfe LIRS <5

'h- ,{\f\f\ ‘\,‘ r..‘;h '\ \:_\\

5 ‘0 \ “{\ oy -
Q1. B. Match the following: iﬂ’ &, .\‘\‘K«'f\f:(g:‘;g}\:g‘%’?
WS &:’zi‘?-ﬁr '-"~Li~‘ﬁ’ A
1) Open market OE
2) FIMMDA {7,
3) Commercxe}jﬁb\a%
4) FEDAI &
5) Bank rgt%@ S
6) Repo® {7 s
\ YT
7) Banker’s dcceparic
8) Gas'hmgggg
9)

A Q,‘

C r"r\ "\Q'ﬁ OR

8E64A6CT77BTB18F62416DE6F7726094



Q4. b. Why bill culture is promoted in India?

v b

ATy
i |

OR

market. -

Q4.c.D

fo
by

t developments done in money

1SCUSS recen

Q5. a. Discuss advantages of callmoney market

Q5. b. Discuss advantages of money market

(Any 3)

Q5. Write short notes

and v

Integration of organized

Repo market
Role of Primary dealers

NDS-OM
Chits & Nidhis

i,
ii.
iii.
iv.
V.

8E64A6C777BT7B18F62416DEGF7726094




T4 *Coamﬁnj

[Time: 2:30 Hours]

Please check whether you have got the right ques

N.B: 1. Figures to the right indicate full marks.
2. All questions are compulsory.

OBJECTIVE QUESTIONS S

/A FILL IN THE BLANKS (any 8) STEERS
“+ 1) Acheque has to be presented within — manths from;
period of validity, whichever is earlier. RS

@6 M3 ¢ fJi2 (df Noné of th
2) is a representation which includes.g"?a 4?&:\%
(a) Cross offer  (b) Stipulation .= {¢).Stan ng.
3) is a Latin phrase meanmg “By Qﬁ\fﬂﬁéﬁﬁm‘mﬁ@gof}aw H
clear. Qf«’:? Qﬂ 0‘. \y' “«.:-.*:3.”:55 ™ ‘:-a ¥ N\ \« .'ffrq! ~
(a) Dejure (b) Defacto @VQSEC)NDHB;@,{W GDGVEY Y o’ S R
ST 00 GRS S
4) = offer + acceptance. SRS S & ‘% »»‘é’g*‘@%ﬁéﬁ ¥ o ‘Q, f, D ED
(a) Estoppel  (b) Agreem:iqf a‘,*“ G tracts (:@5 %’0 )fthe above
5) means something Qﬂggl e lﬁ@&%ypamgs tﬁ a\qdnﬁggg@hﬁtmé udes them =
enter into an agreement. _ Q‘Q’: N PP TLIFESL
Sy T "\'-v'-fga A ."1"5"\'5:- ~-"
(a) Doctrine S ,aa -Lonsidery E‘?ffh‘j{? x
6) Drawee of a cheque isaw&%ﬁ-‘?’ “?"’Q‘ I ’«':?"" *"'cf“'l:f?f\ ;-
(a) Banker <% TWOrker &) @
7) The banker who rﬁ@%ﬁh@@@&&a@%&@;ﬁd’bﬁgﬁ_@ ond qhalf of its customer s
ca]led 3}k A X, B AL .(\ J\,L’\

x;' g ?@7& ‘%, q&u‘ﬂ@i‘ fm‘;&(p)« Egrﬁ*' (d) None of the abowe
k At i) o % aod] !\ .
. ixy ﬁ?ﬁmﬁ\@%&zﬂhs &aﬁﬂn-}f‘\g Qe 5
(a) Gratﬁﬂqu&ﬁmfgi% fbj‘@zg‘" fﬁr‘a ,Bm@fent (c)None of the abowe
9) .____Q_\.Tt;e'a;'l& g&spj@@qhas he@ﬁ&gﬁ;ﬁweﬁ et mn“ertmg, or by words of mouth ar
by pe;fo\bﬁ’la'?igé 6{ &,2

ck""‘

P "“ S (r),hg}aement (d) None of the
keépj:oﬁe}sidn of another person’s goods until dete
Ben Paidy(<" <

uquuh@fdtm?: (c) Valid Agreements (d] Nome

. gt
~relati; &Dfﬁq"s

S, _“-(5!1."6:‘%!2‘1(?
~oftheabove

ny 7). A
g;egment to’ Wage} 15 ma,‘ o
1‘23 ng tto: rqsale sskgweu”tg gﬁnﬁer of goods.
»3l%gregmeqm Hey Mxhqr amwmd
sarnract forbidden by 1PC, 1860.

Sy A ag}:eemeﬁt&tf%ﬂ bhnnf:ertam

k 7-_*63 e?g_nh&pﬂa%ﬁkgbhcy cannot occur due to efflux of time.

JF Buyeﬁ:(‘féaﬂs ﬁupg‘r’sﬁn who buys OR agrees to buy goods i.e. a mere agreemess & s
-~ =isenough wmake‘h person a buyer.
%‘Eﬁmfdi'/cheq“e\bouncmg is twice the amount of cheque

~Pagelof2
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f Caveat Emptor?

rine o

1sCuss In

D

Q.2

OR

Define a “Promissory Note” and state its essent

detail the Doct

ials?

Q.2

Explain different types of Contracts.

Q.3

OR

ffinder of goods

/4

Q.3 a) Discuss the rights and liabilities o

7

b) Define Goods and explain various types of goods

What is the measure of damages in respe

Q.4

ring

Insurance contracts are generally wage

L

Q.4

b

te short notes on any three of the fo

a) Del Credere Agent

Wr

Q.5

b) Specific Goods
d) Payment in due course
e) Misrepresentation

c) Cheque

Page 2 of 2
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CO233FR / C0868 / COMMODITIES MARKETS _57‘&}-[, X :
: Q.P. Code ;20573

[Time: 2:30 Hours]

Please check whether you have got fhe right qu:eséipn‘pap'er'.~:'},},-,__". & '
NB: 1. Al questions are compulsory, Subject to in_teﬁnﬁl choice 7 &

2. Figures to the right indicate full marks, AR LTI O '.",%_,:;"'"_.-‘

¢ Q1 A) Fill in the Blanks (Any 8) S F R T T O S S A
o 1) Amajor consideration while buying the prodyct i$ its_ SR ot '
(Price/Quantity/ Quality) B TR 12 P &P (T Y A
2) The commodities other than those listed tinder s'ECtién:I"’.jégre_ referredas - RS
commodities. (Illegal / Free / Restricted) ESA I IR D )
3) One of the basic elements of contract farming is SL
( Liquidity / Pre agreed Price / Storability) - aite
4) can be produced by fermenting Glucose. ¢
( Ethanol / Lactose / Fructose)” '~ (el ARl PRL TP
5) are appointed by cq;n_mgdityfGXChan-gé-.'fQijfédsfef0ﬁﬁyﬁ\d's;n
= (Clearing House i Clearing_A_gerjts,_/"_Lfle'amig' Banks) - S REA R
6) is the only exchange in the:world engaged in trading of Futures'in Pepper.
oo/ BCRL/IRSTARS.S. =~ T SER T
7) A Commodigfmfépketg&;dés_irfa‘ble for the development of an economy.

(Unorganized / Tr@hgﬁh?gnt~]_spetglative} IO

8) NSEL trading Systelt & & Sy fuI},y‘autolmated“s_creenbas'ge‘qi system.
(NEST / NSET/NEAT) .~ "= ST ES PIE s

9) Winnipeg Commodity Exchange is the only Commodity Exchange of

L iexico / €anada Istanbuf) . - <
10)In state of 5 oA i "hugk:*@'f wheat is‘béjn“g" used tb-ggngi‘éte Electricity.
(Punjab £ Uttar Pradesh / jharkchand) - SN

> A
b 82y

Q1 B) Match the Columin {Ay -

(07)

8

15t Demutualized Commodity Exchan ge

Standardized Size
|/ O Document of Tit]e
. Capital Market Regulator

S JAGMARKNET e Man’s Gold
A9 SERL

I ndonesia

g, & $cusstheM1crostmcture of Physical Commodity Markets. (08)
e B.‘-,f?fs'?l,igil,ihgﬁﬁli}ufe"‘f;lf%rﬁspects of Indian Commodity Markets, (07)

RS e i o A A
e s ,.;D:isc;r_x;s};krf-ggtypgs: of regulated Commodity Markets in India. (08)
) s [W,ih-gp‘c‘irg_th;é-‘phlteria fora Commodity to qualify for Future Trading? Explain. (07)

LA
ey o

W, ]
- oy

Page 1 0f2

e YRS 79DFB28E480BFA2572A76C47A9F Ce0CR



Q.3

Q.4

Q5

Q5

S ————————=:_aLLessS————————_ee

CO233FR / C0868 / COMMODITIES MARKETS SEAEA

:20!

A. Discuss in brief the categories of Agricultural Commodities.

B. What is Commodity Futures? Who are participants of Co?nniodlty ‘.Fu.tuirésc-M'a:r'}géts'?j >
Discuss the role of State Government in development o_f,T;e_fm‘iﬁa:l: 'M%ltfké;t COmple

.
D. State the Pre-requisite for grant of recognition to Commodity Exchanges. -

A. Write in brief about the major commodity exchgﬁgélglg"ﬁsi@;
B. Discuss the Features of National Multi Commodigy Exchange.

C. Discuss the Commodity

i) Bikaner Commodity Exchange
ii) Chamber of Commerce, Hapur

D. Describe the process of

A. Distinguish between Equity Ma@iﬁﬁ- &Gommodity Market
B. Discuss the role of AGMARKNET in-€om

Write a Short Notes : (Any 3],,55 }:;\
i) Commodity Market Ecosystem.

ii) FMC 8
iii) KCC &
iv) Role of NAB ARD in

3= \:“ - Y i
-2 S i S 5o e
ks Commodity Market
v) Orders in C°'??’?‘9'§5?¥*Fﬁ§nif¢*rrading,-, S

OR ;

OR -
Specific Regional Exchange.

: CASENAGR NG
Spot tradiqgﬁn‘Ele_amn_-it-Excha’t;ge.

modity Market. -
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5)

(2 ¥4 Hours)

NB: (1) All questions are compulsory.
(2) All working notes should form a part of your answer,
(3) Specify assumptions, if any, while solving the quesjmns
(4) Figures to the right indicate full marks. : :‘* LA
(1) (a)  Match the following. ( Any 8)
Column A
l Business Risk
2 Purchasing power risk
3 Expected return
4 Free from insolvency risk &
5 Diversification
6 Traditional Portfg%(i;tygﬁ}:yﬁz
7 Treynor measgféqs Q'sr ¢
g

ity
otlbﬁﬁ&m ;ﬁ Tme or False. (Any 7) 7

N, 3! _\( £
quire iﬁ;ghei' métement of return for each additional
2% et o _‘

-Ri%@?ﬁﬁi@?‘?ﬁfsfﬁi

i, el Phes;

\‘Q‘. ‘l P
aa‘cdsﬁeﬁ ?ion lower is the investment risk.

LA
.J\ v _:q, D \‘..
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10.

)

The market index has a beta of 2.0 by definition,

Investment in ppF does not provide tax benefits.,

The rate of return on stock M and stock
given below:

i

State of Econom Probability
Boom '
Normal ,

Recession -l

Calculate the expected remtﬁ a

{3 gl

N.1f u could invest mel'thver
would you prefer and wh

stock M or sto

5
Y
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‘Write a shor@h@%&nﬁ ({'ﬁ{y‘

Market Index

Portfolio
X
Y.
.
Market Index

(a)  What do you mean by Fornh
!n,_“
of Formula plan. & ;5‘?4.
= 3@3’.’
P

)

) ‘z
(b)  Explain dlffeamf tﬁ;ﬁé’&r@)
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